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EX: tE=E2
Mz THOH &L THY ol
Sl THHHE 2elsse 23S (2 &HH)
_ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
01 2L I 1,944 1,944 0
OMUOIEAE AREX
81,000& x 2% x 2 x 63 1,944
206 M = Hl 1,200 1,200 0
01 X2 H| 1,200 1,200 0
OMUFAZA 29 HR2PY
300,000 * 43| 1,200
Mgy g2#s2d9 12,146 12,146 0
= 3,555
Al 8,591
201 gEt24d| 7,120 7,120 0
= 3,000
Al 4,120
01 AFR2 22| H| 7,120 7,120 0
Ot I3 MM
70,0008 = 3¥ * 23| 420
OotEBeIMoAE HALY
70,000& = 10¥ = 13 700
O AL AN2E E=4E 6,000
& 3,000
Al 3,000
202 04 d| 2,916 2,916 0
01 2Ll 2,916 2,916 0
ONML2el ALEX
81,0008 * 3H x 22 x 63 2,916
301 et A= 2,110 2,110 0
& 555
Al 1,555
09 HAIAHIBEAZ 2,110 2,110 0
Ootd &t SAIY & sy X3 1,110
o=t 555
Al 555
OMUHNHERD 2Y 1,000
==2IIMHsS 8&d=d N 5,790 3,000 2,790
= 2,895
Al 2,895
201 B9 5,790 3,000 2,790
= 2,895
Al 2,895
03 A2 G| 5,790 3,000 2,790
OM-tisse=zd 5,790
= 2,895
Al 2,895
ordte] esd Y 8,100 8,550 AN 450




2N
X ZH -
L= B

el

5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
201 Bt 7,100 7,550 AN450
01 AP 22| H| 7,100 7,550 AN 450
OMLtot™ 22l AH & H 2 45 000 = 808 3,600
OMHUs ths - =& Jt0l=e2tel M
30,0008 * 50% 1,500
OdEH ZHOC =822 H&
1,000 = 2,0000H 2,000
202 044 1,000 1,000 0
01 2L Hl 1,000 1,000 0
OMHFE0F 24 Yl 1,000
Lol e ==& 10,810 10,800 10
201 et d| 1,200 1,200 0
01 AR 22l ] 1,200 1,200 0
OXAMHME =22 M 1,200
202 o4 H| 1,610 1,600 10
01 2Ll 1,610 1,600 10
OAIE O FSEZE AAME B
20,000 * 29 x 203 800
OXAML 23 32 ol
81,000 * 53| » 2H 810
203 R F&d| 3,000 3,000 0
03 AIZH =X 25 X H| 3,000 3,000 0
ORI HEE=XR 3,000
401 AlEHIZL £ 0HY| 5,000 5,000 0
01 Al&EH| 5,000 5,000 0
OMH FIEAIE HMESH AFS 5,000
S==37 U YR 144,500 136,500 8,000
201 et d| 78,000 70,000 8,000
01 AP 2t 2] H| 70,000 70,000 0
OMY - Mol SS=7 Y AFMUHl &d X 20,000
OME & 222 AIY UL (8IHS) 50,000
02 2324 8,000 0 8,000
Ol MAdl =& X 248(8s)
1,000,000& * 8IHs * 13 8,000
206 M = dl 12,000 12,000 0
01 X2 8| 12,000 12,000 0
OMEXM e & 22272 Ha 22 (8HsE) 12,000
302 Ol =L Mol B &= 14,500 14,500 0
02 IZoI Y =ERESE A= 14,500 14,500 0
OMUXE2 & HHER=E (MHXKZ) 14,500




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 40,000 40,000 0
01 A& HI 40,000 40,000 0
OM:IIH SS=EFH(MHXNAS) 40,000
MHoE= HFHX X2 3,500 3,250 250
302 Ol THOH E&F = 3,500 3,250 250
02 QIZHITHOH R EFR &S 2N S 3,500 3,250 250
OgIztel gAY 8,000& = 50% = 5¢ 2,000
Oglztol &toh Xl 2 I 100,000& * 159 1,500
MoliCHEl 2SS X &= 1,400 1,400 0
206 M= Hl 1,400 1,400 0
01 M= 4l 1,400 1,400 0
OPPOIH ¥ JIEt MES 1,400
a0l BEEML(HEBEHE) 55,189 66,745 A 11,556
< 17,038
Al 38,151
201 L2l 20,000 20,000 0
< 10,000
Al 10,000
01 At 22l 20,000 20,000 0
S=xol 28 2= MH 20,000
< 10,000
Al 10,000
308 MXIEHSOIH 35,189 46,745 A 11,556
< 7,038
Al 28,151
1MIJIEtRES 35,189 46,745 A 11,556
OZ228 23 (SN AMY) 35,189
< 7,038
Al 28,151
SZJ ADHE gsEE 10,000 0 10,000
= 5,000
Al 5,000
201 Zet24E] 10,000 0 10,000
= 5,000
Al 5,000
03 A2 ZHl 10,000 0 10,000
O&ZIl AL E g=s&=d 10,000
= 5,000
Al 5,000
SHMFEAAHES SAAHA ALY 55,000 0 55,000
206 M= Hl 55,000 0 55,000




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 =8l 55,000 0 55,000
OStMFAHNS a3, HSIES 2RI
55,000& = 1,0000t+ 55,000
Moo Jigt= 403,480 301,500 101,980
< 150,000
Al 253,480
Mo« & X+ &l 403,480 101,500 301,980
< 150,000
Al 253,480
201 Let249y| 600 600 0
01 At 22/l 600 600 0
O=2®g AB= 600
401 Al Bl 28I 402,880 100,900 301,980
< 150,000
Al 252,880
01 A& HI 400,000 100,000 300,000
OMOHAE XSG HE S A 100,000
Odtdl g A7 2 THHRIE X7 HE B AL 300,000
< 150,000
Al 150,000
03 AIE 2 0H I 2,880 900 1,980
OMOHAE X 7 & SA AIE R0
400,000,000& * 0.72/100 2,880
AHARSHE GHE 2e| 2,530,840 3,616,340 A 1,085,500
Xl 820,000
< 100,000
Al 1,610,840
OF & XH o Ol 2 AF & 1,445,400 550,900 894,500
Xl 320,000
Al 1,125,400
ot& EHHIAHY 805,400 400,900 404,500
401 Al Bl 28I 805,400 400,900 404,500
01 A& HI 800,000 400,000 400,000
OXgotd L AcHEZHI SA 150,000
OACIESEHEHIEA 600,000
OXg & A5t ==HAHIA 50,000
03 A& =2 THHI 5,400 900 4,500
OXlgotd ¥ ActEEHISAF AIERUHYI 1,080
OACHEZEHEHIEY AL R 3,780
OXNg & Aot = MAHSA AIEZ2UHI 540
Mo ot z2el 640,000 0 640,000
Xl 320,000
Al 320,000




EX: tE=E2
Mo NAXBE staze
CHRl: oL & THOH Ol & AL S (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
1T AIEHIZ 20| 640,000 0 640,000
Xl 320,000
Al 320,000
01 Al&H| 635,424 0 635,424
OAcHA (A= & ) A HI Z2 A} 317,712
N 160,000
Al 157,712
OAoI™E (HEBHE)EHIZ A 317,712
Xl 160,000
Al 157,712
03 AlE 201 Y| 4 576 0 4,576
OAHA (A=A )EHI =2 NG
317,712,000;J = 0.72/100 2,288
OAold (RS )EUIZ2AF AIE 20
317,712,000& * 0.72/100 2,288
of& S Al &2l 1,085,440 3,065,440 A 1,980,000
Xl 500,000
= 100,000
Al 485,440
ot&E < &2 85,440 65,440 20,000
201 et 3,500 3,500 0]
01 AP 2t 2| bl 700 700 0
OastdZe| /a3 = 700
02 Z2=2=24%4| 2,800 2,800 0
OJtEEX EIIIXIAM &5 2,800
202 044 1,940 1,940 0
01 2L Y| 1,940 1,940 0]
Ootd=2z & HZ5ora2a el 1,940
401 AlEHIZL L2 0HY| 80,000 60,000 20,000
01 Al&H| 80,000 60,000 20,000
Ot HAEX B A 60,000
OHEEX Zel(2e=g 2d¥EII2SE) 20,000
ot THOH Ol & (A= X 32) 1,000,000 3,000,000 A 2,000,000
Xl 500,000
= 100,000
Al 400,000
401 Al HI L 204 HI 1,000,000 3,000,000 A 2,000,000
Xl 500,000
o 100,000
Al 400,000
1 Al&H| 993,739 2,989,238 A 1,995,499
OXSEBEHANI(AZTHA) 993,739
Xl 500,000
= 100,000
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FAN: S
HE: 0ge 29
©?: HAMHESE s B (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Hatdled HHHdsE Y 21,280 25,820 A 4,540
HI & CHHl =& 21,280 25,820 A 4,540
201 Let24d] 21,280 25,820 A 4,540
01 At 22/l 21,280 25,820 A 4,540
OsSAHMN M= 90,000& = 2& = 50% 9,000
Oskgs 2¢gd 29 3,600
OsXds 22 =4
8,000& = 1209 = 24! » 44 7,680
Ozl g AdNEd 1,000
ZESH FELE 1,539,134 388,340 1,150,794
= 614,000
= 81,400
Al 843,734
ZESH 2 2l 1,539,134 388,340 1,150,794
= 614,000
< 81,400
Al 843,734
ZESA A= 22 311,134 364,340 A 53,206
< 20,000
Al 291,134
201 £B-2dH| 162,834 137,040 25,794
02 =24l 162,834 137,040 25,794
ORlgeldE AAE SX2el
169,000,000& = 1.5/100 2,535
OYHE(CISH) CCTV AlAE X2l
620,462,000% * 1.0/100 6,205
OUYAZEANE HIIRS
10,0002 = 1304 * 1200 & 1,560
OositEes ®IIes
2,000& = 3724 + 1200 & 888
oggE (=) CTV 22
13,000 = 176004 = 1202 27,456
Oslis&sZd RANE=>
199,366,560& * 10/100 19,937
OME . Mol CCTV RAE=
60,638,000& = 10/100 6,064
Ous=s TV S+
214,900,000& = 10/100 21,490
ogdHE(U=sH) CTV FAE=>
516,987,756& = 10/100 51,699
OflgAZE AAE SANES
250,000,000& = 10/100 25,000
202 04 Hl 5,300 5,300 0
01 S LHOIYI 5,300 5,300 0
OZESH gRF2 5,300




2N

ot S 2t
HE: FESN AP
Sel FREH 2y CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 3,000 2,000 1,000
01 M= 4l 3,000 2,000 1,000
OZ2SH Mg+ 3,000
401 Al HI L 2T 140,000 220,000 80,000
< 20,000
Al 120,000
01 A& HI 140,000 220,000 280,000
OogdE CCTVItniet X 100,000
OMHFHAXS 02 L BEALE 2F 40,000
< 20,000
Al 20,000
CCTVEE2HMEEH 2= ALY 1,228,000 0 1,228,000
= 614,000
< 61,400
Al 552,600
401 Al HIZ 2018 1,228,000 0 1,228,000
= 614,000
< 61,400
Al 552,600
01 A& HI 1,223,595 0 1,223,595
OCCTV S e 5 1,223,595
= 614,000
< 61,400
Al 548,195
03 Al 2 0HHI 4,405 0 4,405
OCCTV SEZHMHUE 25 AER0UH
1,223,595,000& * 0.36/100 4,405
IR 215,200 112,200 103,000
FOU XA &2 st 215,200 112,200 103,000
FoUNSLHEHH 2SN 205,200 102,200 103,000
301 et a = 82,200 79,200 3,000
04 HtSLHUHAH XA 79,200 79,200 0
Osgdi 2EX&
350,000& = 14JHCH = 122 58,800
OXtsddd e 29XA
300,000& = 304 = 12& 10,800
ONSLHU AIRA eyl
200,000& = 1204 = 438 9,600
09 &AL HI B A S 3,000 0 3,000
OZ2x NSYHASEH ARSI ot 3,000
307 21201 A 3,000 3,000 0
02 It S AHE L 3,000 3,000 0
OXsZegl 22333 3,000




M=

dsZ
EPAPNEERS R o)
BIXHR = &2 35t

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
401 Al HI 2L 2 0HHI 120,000 20,000 100,000
01 A& HI 120,000 20,000 100,000
(@FE S =NE=2=13= 21 4 H 40,000
Odstsgdn Fa B 80,000
XNExotgols 29X 10,000 10,000 0
201 L2 H| 10,000 10,000 0
01 A2 22| bl 10,000 10,000 0
OXdgxIotEols 222 M 10,000
HHSHHH (A SZ) 38,960 37,292 1,668
Rl 38,960 37,292 1,668
=&l 38,960 37,292 1,668
201 LEt2 Y| 33,840 31,572 2,268
01 At 22l Yl 30,240 27,972 2,268
ORMdE2d9 JI=2&Hl 4,800
ocOtNMEZ 250,000& = 12& 3,000
o I LHak & Al 150,000& * 12& 1,800
OANEREE IFU(BAEIX S) 3,600
o Ot EFZ 200,000& = 128 2,400
o T LA & A 100,000& * 128 1,200
OMHEARIDI] 228 2 7,200
cOtNMEZ 300,000& = 10CH * 23] 6,000
o I A&k Al 300,000& * 2CH * 23] 1,200
O8I gdxaz 50,000& * 204 = 12& 1,200
O3 &l 8,000 * 209 = 7 = 12& 13,440
02 35294l 3,600 3,600 0
oRE2 300,000& * 12& 3,600
202 04 bl 1,520 1,520 0
01 2LHOHI 1,520 1,520 0
OBlA422 2L A b 1,520
203 R =&lY| 3,600 4,200 A 600
04 ENEIHRF 3,600 4,200 A 600
OFAN2g9LER | 300,000& « 12& 3,600
S(otdEZ0) 193,999 177,076 16,923
WEHHX = 193,999 177,076 16,923
WWEHH X = 193,999 177,076 16,923
702 J|12HE2 193,999 177,076 16,923
(VIS 193,999 177,076 16,923
OMHtZ2IN2SHES 193,999




